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For A :  T − F = 2ma
For B :  mg −T = ma
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F = 1
5 R



R =1.5g
T − F =1.5a
3g−T = 3a
T =1.2g or 11.8 N or 12 N
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  mg sin40− F = ±ma










 

 

mgsin40-F=±ma
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  acc = 2.55
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12.62 = 2a.50         (⇒ a = 1.5876)
800gsin15 − F = 800a
                      R = 800gcos15
                      F = µR
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800gsin15 − µ800gcos15 = 800 x 1.5876
                                         µ= 0.1, 0.10, 0.100
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  ±T cosθ − 300 = 750× −1.02 = −765
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  ±T cosθ −500− R = 1750× −1.02
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  R = 2.7g cos40+15cos40










 

 

R=2.7gcos40+15cos40


oleObject21.bin

image23.emf



  F = 2.7g sin40−15cos50       F = 7.366..( )
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µ = 2.7g sin40−15cos50



R
= 0.23 or 0.232
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  2.7g sin40° ( = 17.0)
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  Fmax = 0.232× 2.7 × g × cos40° = 4.7...
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 17.0 > 4.70
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